AR

FER

I 112 § & & & Bk b

TR HRE (A

B/ | &kE Ry | Rz
Bk B 4 & 4 5 ® B |21 & 40 A
B |1k
s |OFFRGREROIIEIRE v EIRE ORI RE
Xk /7 ﬁ*##“'?"é igy (g% [IPBL
RO I Nkegy ke % (2 # ( )
b (1P FapAFE v IRLITERARE [RINFELAITRR
%‘% OpsEr g4 DPFEFTREENEE DEFraf 248 3%
‘ O 2 ds (el iemysc [~ taREER
3= o) Bfof A i 42 = E
£3 4R 2.0 * FE MRS ] Feenit R
CRES S
1;*& o] B2 Beht g Tk
9.7 2 o] i
o A E LY
- PLEIEY RS
| MeERE(FRE)F X E 4 Arh=tkimidsh ~ LY ad g

M- B 'ﬁ’]‘é“}}; N3 -y FR- l/lflr—-
#f@—gﬁ%ﬂx;—g\,_ - Bolw *ll}pﬁ,%ﬁm“é\% ag
2?%'? HEHD0.06 7= E - fr’l’gﬂ Z frg 33 %; i g

P AT A 2 B0

E - frlg e?

na
v &R fr’lg e?

1Y

2.7 F 4 dreif e s I gk
(DR faeeht i mpu s o

(2) Sl BRI ITER S e N ks

Z B anEE A

FEER

| B @ e

1. w429 A R o)

ﬁ%ﬁ%wﬁ%

(_—f. LU 0X>
5&‘%%




B ERRFanE R Fer )il

in 2 Fvis B T R EE
¥ Rte— BF ﬁ%ﬁfle%— 78— i) AT
JES S E ) RS VAT s 5 |r#&

Bamws | LAz -=0.1

- BERFEAEA--BlO b - BER
TS e 2 B8 - 8 P kAT
RERAAE- B9 f - BEREDS
P L

N EA2-=00l3l»FA=E

23 5 0.060 n ER A p o2 e o
7 E %ns o #J g | R 15 | RFHEE
pE Y T

oS 2,76
27690 BB 1A ®0.15B 0,001

B P

B AT ) it B (R A
PR

EHEY #) 10

Ry
= 1 B oz ) L L 2
Yy g 0.13 eh= B E_ 5 5?20 ,Efﬁfrim‘? 5

Gl €3 S2E N TS



